Score:

Evaluate each expression using the correct order of operations.

1. 22 4+ 3(2 — 4)2 2.3(6-5+2)%—(16-9+2) 3. (52 +2) —4(6 —2)3

4. 5—2(7—2+3)? 375 6+2(-4)
' ( ) 7+10 " 5(-4)
(—8)-2(-12) 6—3(4)
62+(=5)(—6) " 15(=2)

Simplify each expression by combining like terms and/or using the Distributive Propery.

9, —4(2x = 7) 10. = (—12x — 30) 11. x + 15 — 4x
12. =7 +2x—3—x 13. —2(=2x+7) — 4 14. 4 —3(x — 2)
15.-x + 14 + 6x 16.x—%(2x—4)+7 17. 5x + 16 — 6x — 2

18. - 3x —8—-3 —x



Solve each equation using inverse operations.

19. x — 6 =—6 20. x + 21 =25 21. —2x = —4
22. -y =25 23. =6 24.2=8
25. —12 +x = 16 26. f — (—23) = 15 27. -1=x+3

28. —6x=0 29. —6 =i3 30. 15= -8+«



